Confidentiality Requested:

Yes No

#### Kansas Corporation Commission Oil & Gas Conservation Division

1238833

Form ACO-1 August 2013 Form must be Typed Form must be Signed All blanks must be Filled

# WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	SecTwpS. R 🗌 East 🗌 West
Address 2:	Feet from North / South Line of Section
City: State: Zip:+	Feet from _ East / _ West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	GPS Location: Lat:, Long:
Name:	(e.g. xx.xxxxx) (e.gxxx.xxxxx)
Wellsite Geologist:	Datum: NAD27 NAD83 WGS84
Purchaser:	County:
Designate Type of Completion:	Lease Name: Well #:
New Well Re-Entry Workover	Field Name:
Oil WSW SWD SIOW Gas D&A ENHR SIGW OG GSW Temp. Abd. CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.):  If Workover/Re-entry: Old Well Info as follows:  Operator: Well Name: Original Comp. Date: Original Total Depth:	Producing Formation: Kelly Bushing: Total Vertical Depth: Plug Back Total Depth: Feet Multiple Stage Cementing Collar Used? Yes No If yes, show depth set: Feet If Alternate II completion, cement circulated from: sx cmt.
□ Deepening       □ Re-perf.       □ Conv. to ENHR       □ Conv. to SWD         □ Plug Back       □ Conv. to GSW       □ Conv. to Producer	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Commingled Permit #:	Chloride content: ppm Fluid volume: bbls  Dewatering method used:
Dual Completion Permit #:	
SWD         Permit #:	Location of fluid disposal if hauled offsite:
GSW Permit #:	Operator Name:
	Lease Name: License #:
Spud Date or Date Reached TD Completion Date or Recompletion Date	QuarterSec.         TwpS. R East West           County:         Permit #:

#### **AFFIDAVIT**

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

**Submitted Electronically** 

KCC Office Use ONLY
Confidentiality Requested
Date:
Confidential Release Date:
Wireline Log Received
Geologist Report Received
UIC Distribution
ALT I II Approved by: Date:

100

1238833	

Operator Name:				Lease l	Name: _			Well #:	
Sec Twp	S. R	East	West	County	:				
INSTRUCTIONS: Sho open and closed, flowir and flow rates if gas to	ng and shut-in pressu surface test, along w	res, whe ith final c	ther shut-in pre chart(s). Attach	ssure reac extra shee	hed stati t if more	c level, hydrost space is need	atic pressures, b ed.	ottom hole tempe	erature, fluid recovery,
Final Radioactivity Log files must be submitted	-					gs must be em	alled to kcc-well	-logs@kcc.ks.gov	v. Digital electronic lo
Drill Stem Tests Taken (Attach Additional SI	heets)	Ye	es No				ion (Top), Depth		Sample
Samples Sent to Geolo	gical Survey	☐ Ye	es 🗌 No		Nam	9		Тор	Datum
Cores Taken Electric Log Run		☐ Ye	es No						
List All E. Logs Run:									
		Repo	CASING ort all strings set-o		Ne		ction, etc.		
Purpose of String	Size Hole Drilled	Siz	ze Casing t (In O.D.)	Weig	ht	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
			ADDITIONAL	CEMENTIN	NG / SQL	EEZE RECORI	)		
Purpose: Perforate Protect Casing	Depth Top Bottom	Туре	of Cement	# Sacks	Used		Type and	d Percent Additives	
Plug Back TD Plug Off Zone									
Did you perform a hydrauli Does the volume of the tot Was the hydraulic fracturin	al base fluid of the hydra	ulic fractu	uring treatment ex		•	Yes Yes Yes	No (If No,	skip questions 2 an skip question 3) fill out Page Three	,
Shots Per Foot			RD - Bridge Plug Each Interval Perf				acture, Shot, Ceme Amount and Kind of	ent Squeeze Record Material Used)	d Depth
TUBING RECORD:	Size:	Set At:		Packer A	:: ::	Liner Run:	Yes n	No	
Date of First, Resumed P	Production, SWD or ENH	R.	Producing Meth	od:	g 🗌	Gas Lift	Other (Explain)		
Estimated Production Per 24 Hours	Oil B	bls.	Gas	Mcf	Wate	er	Bbls.	Gas-Oil Ratio	Gravity
DISPOSITIO	Used on Lease		N Open Hole	METHOD OF		Comp. Co	ommingled bmit ACO-4)	PRODUCTIO	ON INTERVAL:

Form	ACO1 - Well Completion
Operator	Toto Energy, LLC
Well Name	Defore SWD 19-2
Doc ID	1238833

# Casing

Purpose Of String	Size Hole Drilled	Size Casing Set	Weight		Type Of Cement		Type and Percent Additives
Surface	12.25	8.625	24	348	Class A	245	Cacl
Production	7.875	5.50	15.50	3618	Class A	275	Cacl



### RENUT TO

Consolidated Oil Well Services, LLC
Dept. 970
P.O. Box 4346
Houston, TX 77210-4346

MAIN OFFICE
P.O. Box 884
Chanute, KS 66720
620/431-9210 • 1-800/467-8676
Fax 620/431-0012

INVOICE				Invoice	#	271668
Invoice Date:	10/10/2014	Terms:	0/30/10,n/30	=======	Page	1

TOTO ENERGY, LLC 25815 OAK RIDGE DRIVE SPRING TX 77380 (713)623-2183 DEFORE SWD 19-2 46527 19/33/6 10/08/2014 KS

	:======================================	=======	=======	
Part Number 1127 1118B 1102	Description 70/30 POZ MIX PREMIUM GEL / BENTONITE CALCIUM CHLORIDE (50#)	Qty 300.00 1050.00 550.00	.2200	4005.00 231.00
1110A	KOL SEAL (50# BAG)	1500.00	.4600	690.00
1107A	PHENOSEAL (M) 40# BAG)	300.00	1.3500	405.00
4253	TYPE A PACKER SHOE61/2X6	1.00	1584.0000	
4454	5 1/2" LATCH DOWN PLUG	1.00	459.5000	
4136S	TURBOLIZER S BAND 5 1/2"	8.00		1060.00
4104	CEMENT BASKET 5 1/2"	8.00	290.0000	2320.00
Sublet Performed 9996-180	Description CEMENT MATERIAL DISCOUNT			Total -1728.00
Description 446 CEMENT PUMP 446 EQUIPMENT MILE 491 TON MILEAGE DE MISC CASING FOOTAGE	LIVERY	Hours 1.00 50.00 655.00 2000.00	4.20 1.41	1085.00 210.00

			Amount	Due	14577	.80	if	paid	after	10/2	0/2014	<u> </u>
====== Parts: Labor: Sublt:		Freight: Misc: Supplies:	.00	Tax: Tota Chan	ıl:		2739	 .16 .21 .00	AR	====	===== 12739.	21
======	:======		======	====		====	P* (r	====	=====	====		==

Signed

Date



271668

TICLET NUMBER	BER_	46527				
LOCATION	GL	Doigdo				
FOREMAN	******	6724				

Samuel Consultation of the	FIELD TICKET & TREATMENT REPORT
PO Box 884, Chanute, KS 66720	
200 404 0040 24 000 467 9676	CEMENT

COUNTY TOWNSHIP RANGE SECTION **WELL NAME & NUMBER CUSTOMER#** DATE Cow la 6 33 19.2 19 Vesore 5 wb 10.8.14 160 + 1 CUSTOMER DRIVER DRIVER TRUCK # TRUCK# Toto Eners 505 h 45 446 MAILING ADDRESS RUSTION 491 Steven 25815 HEW ZIP CODE Spring  $\tau_{\mathbf{x}}$ 

JOB TYPE Production HOLE SIZE 578 HOLE DEPTH 4015' CASING SIZE & WEIGHT 5' & 15.5

CASING DEPTH 36 (7.6 DRILL PIPE TUBING OTHER

SLURRY WEIGHT 14 SLURRY VOL 1.62 WATER gal/sk CEMENT LEFT IN CASING 42.2

DISPLACEMENT 85 DISPLACEMENT PSI MIX PSI RATE

REMARKS: SOCAY Meeting on Units Flort equip Baskets 1-5-10-15-20-25-3

75 Tunbotizets 3-8-12-17-22-27-32-38 Right and circ Volk Open +

GE Padre shore 1800th Pump 5 BBL water miy 305ts RH

Miy 2705ts 70/30 pos 49000l 29000c w/5t polen and 1th phenosoph

Persk. Wash pump and times Drop plus and displace 85 BBL.

+4224 +C1+6

ACCOUNT	QUANITY or UNITS	DESCRIPTION of SERVICES or PRODUCT	UNIT PRICE	TOTAL
5401		PUMP CHARGE	108500	(032 5
5406	50	MILEAGE	420	21000
5407A	1311000	Ton wilmage Delivery	141	923 55
5402	2000'	Casing Soonlage	, 23	46000
e tolicina (i.e.	al CSa Variation III - Land - Land	Total attraction of the property of the proper	7.5	· · · · · · · · · · · · · · · · · · ·
1127	3009K5	78(30	1335	40050
11183	1050	Gel	.22	23100
1102	550	Calcium chloride	1078	42900
1110A	1500	* Krseal	.46	690 00
1107A	300#	Phono-seal	135	405
4263		51/2 x 17/8 Packer shoe	158460	1584 5
4454		512- LANCHDOWN ASSY (W)	459 50	4595
41365	8	513 - 5-Band Turbolizers	132 50	10600
4104	8	s"2- Baskels	29000	2320
1.0		To program to the control of the con	Thursday is	12862-
		disc	TOTAL SALVENS	17280
		70. \$0.000 no. 30 40 40 40 10 10 10 10 10 10 10 10 10 10 10 10 10	o de la companion de la compan	121345
		The extrapolation of the second secon	SALES TAX	605.1
vin 3737	7 1 0 1	C C C C C C C C C C C C C C C C C C C	ESTIMATED	12739.0

AUTHORIZTION DATE

I acknowledge that the payment terms, unless specifically amended in writing on the front of the form or in the customer's account records, at our office, and conditions of service on the back of this form are in effect for services identified on this form.

0 37



## REMIT TO

Consolidated Oil Well Services, LLC Dept. 970 P.O. Box 4346 Houston, TX 77210-4346

**MAIN OFFICE** P.O. Box 884 Chanute, KS 66720 620/431-9210 • 1-800/467-8676 Fax 620/431-0012

INVOICE				Invoice	#	271652
==========	==========	======			=====	======
Invoice Date:	10/10/2014	Terms:	0/30/10,n/30		Page	1

TOTO ENERGY, LLC 25815 OAK RIDGE DRIVE SPRING TX 77380 (713) 623-2183

DEFORE SWD 19-2 46510 19/33S/6E 10/03/2014 KS

=======================================		========		
Description		Hours	Unit Price	Total
TON MILEAGE DE	LIVERY	589.00	1.41	830.49
Part Number	Description	Qty	Unit Price	Total
1104S	CLASS "A" CEMENT (SALE)	240.00	15.7000	3768.00
1102	CALCIUM CHLORIDE (50#)	550.00	.7800	429.00
1118B	PREMIUM GEL / BENTONITE	350.00	.2200	77.00
1107	FLO-SEAL (25#)	100.00	2.4700	247.00
4432	8 5/8" WOODEN PLUG	1.00	84.0000	84.00
Sublet Performed	Description			Total
9996-180	CEMENT MATERIAL DISCOUNT			-1356.30
Description		Hours	Unit Price	Total
446 CEMENT PUMP (S	URFACE)	1.00	870.00	
446 EQUIPMENT MILE	AGE (ONE WAY)	50.00	4.20	210.00
PLUG 8 5/8" PLUG CO	NTAINER	1.00	345.00	345.00
MISC EQUIPMENT STAN	D-BY ON LOCATION	8.00	270.00	2160.00

			Amount	Due	9315.22	if	paid	after	10/20/	2014	
======= Parts: Labor: Sublt:	.00	Freight: Misc: Supplies:	.00	Tax: Tota Char	al:		72.12 .00	AR	=====	7872.12	=
=======	:======		======	====	:======		=====	:====:	=====	======	=

BARTLESVILLE, OK 918/338-0808

Signed

Date



271652

LOCATION 180

FOREMAN LARREY STORM

PO	Box	884,	Cha	nute,	KS	66720	
620	-431	-9210	or	800-	467-	8676	

FIELD TICKET & TREATMENT REPORT

	Or 000-407-8676	Line scullings and a report to be	CEMENT	ME TO STORY OF			
DATE	CUSTOMER #	WELL NAME & NUM	MBER	SECTION	TOWNSHIP	RANGE	COUNTY
10-3-14	8056	Defers Jul	19-2	19	335	10E	Cowley
CUSTOMER	o Ever	gy WC					
				TRUCK#	DRIVER	TRUCK#	DRIVER
15015	Oak R.S.	1 - NR		446	dash	entic zini inir	(EXCLUSION SEE
Ø3817	CAR KION	ge D	and the s	713	Dustan	म सुप्तान देव	La Difference So
Speri		STATE ZIP CODE 77.380		725	Lasay	N MURRO EL P	THE STATE OF THE S
JOB TYPE	( ) ( )	HOLE SIZE 124	」 _ HOLE DEPTH	161 2017 CHAIL NO. 1	CASING SIZE & W	FIGHT 85	?
CASING DEPTH	357	DRILL PIPE	TUBING			OTUED	All All Andreas
SLURRY WEIGH	rota ) as ital	SLURRY VOL	WATER gal/sk_			CASING 25	11_
DISPLACEMENT	10 01	DISPLACEMENT PSI	MIX PSI		RATE 4,4 6	1/2	
		0 878 Csq - Bag	1- nen	2.10-2-	Meno	01.11	201 AACLA
-19 90	13 1 3	4 - DSplaces +1	SI CIRCU			USKSHT	5% CHUL
ave my	128 10 KG	14 - Displaced Fi	marth	2 20	b water.		77.70.734.07
<del></del>							
() en	0	0		Marine Gal	omelyin telfon m	ar agrat office	200
CIRCU	MALE TO	Coeneux Oo	Quel	are	hat off-flow sur-	le Tergues hia	
			9		o as to by son some	Bio B. annin i	
ara da da san da		the same and background	U	A VARIABLE IN THE		einskii sase	
2117/08/8920	g genre i de	able to Till	ism all			hankaya san	K . I Grafiya
NE TERMEN	A. 18 (1987)		6.14		Nat Asia		
OPERAL SERVICE						ALEGERIAL CO	

ACCOUNT CODE	QUANITY or UNITS	DESCRIPTION of SERVICES or PRODUCT	UNIT PRICE	TOTAL
य्ना उ	elección de relección de	PUMP CHARGE	870.00	870.00
5N06	50	MILEAGE	4,20	210.00
5407	50	Bulk De Provincy & 11,78 tows so		830.49
11045	240	sks A	15.70	3768,00
1102	550	163 CACH2		429,00
1118 B	350	16 Bel	178	#13.00°
1107	100	Has Poly	2.47	247.00
4432		858 TW Plus	84,00	84.00
3618		218 Plug Contapare fourth	345,00	345100
5404	8	Warting IPME	210,90	2160,00
				9020,49
		/ess 183001	ot -	1356,30
		Subtotal	a meneral le e	7664.19
in 3737	16 1	इसी समित्रकार गठवुडा, एरिवृद्धाः भागा वर्षः	SALES TAX	207.93
5	the Am Bon	11	ESTIMATED TOTAL	7872.124

I acknowledge that the payment terms, unless specifically amended in writing on the front of the form or in the customer's account records, at our office, and conditions of service on the back of this form are in effect for services identified on this form.

TITLE

DATE